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Note : All questions are compulsory. Each question has 

internal choice. 

1. Choose the correct options for any five from the 

parentheses. 	 5 

(a) In the ZZ — ZW system of sex determination, 

male is the (hornogametic/heterogametic) 

sex. 

(b) The four blood groups in humans are 

governed by (three/four) alleles. 

(c) The DNA region in chloroplast can be 

observed under (light/electron) microscope. 

(d) (Thymine/Uracil) is specific to RNA. 
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(e) (Intergenicllntragenic) mapping is the 

mapping of distance between different genes 

in a chromosome. 

(0 (Oncogenesis/Metastasis) is induction of 

cancer in an organism. 

(g) (Skin colour/Colourblindness) in humans is a 

quantitative trait. 

(h) Ti plasmid is found in (Agrobacterium 
tumefaciens I Bacillus thuringiensis). 

2. Match any five items of column A and column B. 	5 

Column A 

(a) G.J. Mendel 

(b) C.B. Bridges 

(c) Phosphodiester 
bond 

(d) E. Chargaff 

(e) Beadle and Tatum (v)  

Column B 

Nucleotides 

One gene - One enzyme 

Mutations induced by 
X-rays 

Law of Segregation 

Operon concept 

(0 H.J. Muller 

(g) Jacob and Monod 

(h) Translation of 
genetic code 
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(vi) Synthesis of 
polypeptide chain 

(vii) Sex determination in 
fruit fly 

(viii) Base ratios 
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3. Draw clear and labelled diagrams of any two of 

the following : 	 2x5=10 

(a) Formation of deletion loop 

(b) Lytic cycle of bacteriophage 

(c) Life cycle of Drosophila 

(d) Microprojectile gun 

4. Write short answers to any fo ur of the 

following : 	 4x5=20 

(a) What are the F2  phenotypic and genotypic 

ratios in the cross SSYY x ssyy ? 

SSYY — Yellow, smooth seeds 

ssyy — Green, wrinkled seeds 

(b) Reciprocal crosses were carried out between 

two species A and B of Evening Primrose 

having the same genetic constitution. The 

plastids of seed parent A were green and of 

seed parent B were yellow. Explain the 

difference in the results of these reciprocal 

crosses. 
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(c) Write the technical terms for any five of the 

following chromosome numbers : 

(i) n 

(ii) 2n 

(iii) 2n + 1 

(iv) 2n — 1 

(v) 2n + 2 

(vi) 3n 

(vii) 4n 

(d) What are transposons ? Describe how they 
lead to mutations. 

(e) Discuss how genetics and environment 
influence the intelligence of individuals. 

U) What will be the genotype and phenotype of 
a child with the genotypes of the parents 
being IAIA and IBIB ? 

5. Answer any one of the following in detail. 	10 

(a) Discuss the control points • of gene 
expression. 

(b) Define sex ratio. Differentiate between 

primary, secondary and tertiary sex ratios. 

(c) Describe the applications of genetic 

engineering in agriculture, medicine and 

industry. 

LSE-03 	 4 



7-6•Tti• -03  

14014 tilith ( ift.;7Fr Tit.) 
nia Orin 

Rtlealt, 2019 

fir#TR 
:arrraTED 

FP:Ri 

 

: 2 El4 	 31711-0-ffiT aiw: 50 

0 mit sRa arArnif zr--a raw 77 an -ftw lamrit 

77q 

 

I/ 

1. 	-14-1 	(t 	-4 	41 TitsV * ct) act) 	ve 
fdax4 ,514 

(w) %Tr IAN 	zz - zw t * aiaTiff at 

(ITI:R frit Aq&ittick) I*1 

(ii) lid '  aR TftR 	(twarK) 	-1WwW 

Aziftu tfi 

(Tr) -4714wre 	it..7R.R. a (mcb14 traTeR1 

714cri-or tarm Trwm 

0E0 (217grn-114a) art.Rq.R. r @doIur t 

LSE-03 	 5 	 P.T.O. 



(30 (akr4414/3Thnitei) 	 utrR7  ti 
"r4ft 	*t wr 	 t 

(7) (aTI*ARRA.R.?Ag) filft snort  ~1 fat air 
auth.  t 

(N ) irr-4-4 4 (N7i 	irvaurtqa-r) 	 
t 

(7) Ti Ofam (7171W29-fiziv ifilfeeb-ft /  c FT 
gifia)4 trrm 	 t 

2. ciaig w alt{ 	W %-41 v4 fkIwzr-wp4 
Trer 	 4:trAR 

9h/c/41 W 

(W) at. 	(i) 	eiss 
(m) Att.  	(ii) 1i Irq 
(Tr) 	. 	SW-e.k 	(iii) X:14)ku1  TAT 	 

au41R 

(Er) S. livii4) 	(iv) 	tit' 	 

() aflsrr cPiT izxr 	(v) 
() 	ffe.{ 	(vi) tiiRS‘cis stiuS  err 

4atiur 

(w) haw320 Hells (vii) th-F ageil lAir 
"Ptiitui 

aTtr4ftTiT (yin) kirk-  3976 
akar 

(7 ) 

LSE-03 	 6 



3. 	Wirt 4 4 f4).-41 0.* IRE WW1 	cf ftl 
2x5=10 

4. 144-1 	4 4 14).41 Wrf **RR' ZW rMiZvt, : 4x590 

() kith& 	i SSYY x ssyy i F2  lit 
apt 4flrisiw4l 3997 azrr t ? 

SSYY — 74F (ict14), c Al7 

ssyy — arfl4r, 	I 

(ii) far itriRW 
TR9. 	.crw-Trr t, *Ala 4Fft Ti*Tur 

f+71T Tfzff 14M 7 	1 Thdfdzil i wrO%-g 

* wan tq .  Alt l i41-a 	9---rft 

kichtui .  * ail 4 TR Awn ti (*meg 

‘trAR 

LSE-03 	 7 	 P.T.O. 



	

(1 (SI 4 lir 	Tim-rat 

nay 	?AR : 
(i) 

(ii) 2n 

(iii) 2n + 1 

(iv) 2n - 1 

(v) 2n + 2 

(vi) 3n 

(vii) 4n 
.  

vt.14 Ai-tf TER * ? 	%Tr crc 4c4Raci4 4-4.1 .  
? 

(3, ) air#P4r4i1 wan trzfidiuT ogritii 	5cg 
. srwrK sriTrP4a-  cryt 	? 

() IAIA w2u IBIS ,41-imce,q airl irrm-14-ffr * 
. 	 warr4Torsr€q Gictiv 

5. .1 4-4 (1 CI el 14 "Wi gni -144Cf 3-di fAiR I 	10 

() 41R-  alitTarf * f 	M34 
*I 

(ii) lc:1g airm 	vfPwu ffiRgRI N12rf4, 
f 	rr VW* fAir auyiHif * 
ffifkR 

('T) TN, afrilIT   * 011 4 avgiftr* 
afirzrrWr 	3 gsR414 	fdicr wufq 
*11* I 

(T) 

(v ) 

LSE-03 	 8 	 9,500 


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

